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n Exercises 1 and 2 identify any congruent figures in the coordinate plane. Explain
0 ¥

- ¥ - 2. Ly
o 6 5
—3
1\ i i = : 3
1—!: -4 | =2 2 4 X 2 2 |
7 I’ ia -6 | -4 —2“ 9 4 | ]6‘
X
- S| 10 B D2 q
) %
) 6 ( 8 6 ; A % ] %
E 2( (p \—6"
£7 4,7 :
In Exercises 3 and 4, describe a congruence transformation that maps AABC
to AA'B'C’.
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In Exercises 5 and 6, determine whether the polygons with the given vertices are
congruent. Use transformations to explain your reasoning

T DARG 2 BSTV
5. A(52), B(2,2), C(2, 7) and S(-4, -5), T(-1, =5), U(-1, 0)
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6. E(6,—2), F(10, -2), G(10, =8), H(6, ~8) and (4, 8), X(4, 10), ¥ 8'(1\:)5)\02”(8 8). 7
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7. Inthe figure, a || b, ACDE is reflected in line a, and AC'D'E" is reflected .

in line b. List three pairs of segments that are parallel to each other. Then A
determine whether any segments are congruent to EE”. b E
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In Exercises 8 and 9, find the measure o

the acute or rlght angle formed by
intersecting lines so that P can be mapped to P” using two reflections.

8. A rotation of 28° maps P to P”. 3 = \ \U‘o !

W
9. The rotation (x,y) — (=, x) maps P to P”. A
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2, find the scale factor of the dilation. The

n tell whether the

In Exercises 1 and
dilation is a reduction or an enlargement.

e

In Exercises 3-5, ( y the diagram. Then use a comfgfs

and straightedge to, construct a\‘\d’{z-:tion 6( quadrilateral
BCD with.the given center and scale factor k. ‘
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In Exercises 6 and 7, graph the polygon and its image after a dilation with a scale .
factor k.

6. P(1,2), 0(2 2), R(4, -2), §(~1, =3); k = 2 Pt(Z"-\) Q (4 4) R(3-4) S (’2(@)
7. A(=4,4), B(-2,6), C(1, 1), D(-2, -4); k <% ) A'C 3N BGE ]-i}_) Qi(,%) 2\ G 3)
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8. A stan.dard piece of paper is 8.5 inches by 11 inches. A piece of legal-size —8.5 in.—]
pape?r i1s 8.5 inches by 14 inches. By what scale factor & would you need T .
to dilate the standard paper so that you could fit two pages on a single piece |

of legal paper? (l
w = (079
: : : photos that were best printed at 3.5 inghes ™

by 14\in¢h frame\Wlich type o -
the loss of the edges of your picture?
11. Would it make sense to state “A dilation has a scale factor of 17” Explain your reasoning. .
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s P(-1, 5), Q(-4 3), and R(-2, 1) ANS VRN C
N T\SZ_XJ( qu Q.

In Exercises 1 and 2, graph APQR with vertice
and its image after the similarity transformation.

1. Rotation: 180° about the origin 2. Dilation: (x,y) = (lfx ]Ey )

Dilation: (x,y) — (2%, 2) Reflection: in the x-axis

rmation that maps the black preimage onto the dashed image.
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3. Describe a similarity transfo

Y| -

In Exercises 4 and 5, determine whether the polygons with the given vertices are

similar. Use transformations to explain your reasoning.

4. A(-2,5), B(-2,2), C(-1, 2) and U}Qg 5. J(-5,-3), K(=3, -1), L{~ ,—5), M(-5, =5) and
D(3,3), EG3, 1), (2. 1) (o7 (3, 3), U(4,3), V(4 2), (3 ) WS
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Prove AGHI is si

in this image?
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